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General Instructions
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o Working Time — 50 minutes (i) Find y', hence, find the coordinates of any turning point. 2
o Write using a black or blue pen
o Approved calculators may be used ) (iii) Find y"and use if to determine the nature of the turning point. 2
o All necessary workin‘g. should be ‘ (iv)  Discuss the behaviour of the curve as x becomes positively and
shown for every question. negatively large, hence, sketch the curve. 2
o Work down the page, not across!
START each of the three questions
on a NEW page
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An arithmetic series has a first term of 1 and a last term of 5.

Total / % 94 o | The sum of its terms is 6 times the last term. Find: :
@) the number of terms in the series 2,
’ ' (i)  the common difference of the series 1

. 2 Continued over
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b) One infinite geometric series has a first term of 3 and common,. .-

ratio of 7. Another has a first term of 5 and a common ratio of #. ©)
If they have the same limiting sum, find:

@ the value of 7, and

balanee of Her acoount Will be ${2@5@00(1.m) *W»(l-hl.é»f)} 3
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(i) Ishesvishes‘to.dothisfor a total peripd ef 10 years; {idd, 3
to nearest $1, the maximum amount she can withdraw,

to the point P(3 27) Calcui"‘ate the volumes of the solids formed

when:
(@) the region A makes a revolution about the x axis. 2
, (ii) the region B makes a revolution about the y axis. 2
Question 3: (13 Marks)
a)
1)) Find the derivative of xx+3 1
" x+2
(ii) Hencefind |——=dx 2
o
b)
@) Sketch, on the same number plane, graphs of y = (x —~3)? 3
and y=9+8x~x indicating their points of intersections ‘ .
and the points where they meet the co-ordinate axes. '
(iiy  Calculate the area enclosed between the two curves. 3

3 Continued over
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